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Perceptrons — Decision Boundary
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find (wo,w,,wz) for 1‘-o||owi,mj Aecision ‘oounc‘c\r‘y‘-
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(Nl,w13J-(x,,x,_3 = (w,,wz)k"(x,,x,_) =0
oF WL, X, + w, X, =0

Q. But what s (x.,xz)?
A. Tt 5 vector From origin and | (parallel) to decision bodndar

(XI;X'L) /}/:'

Use (x,x,) = (=1,2).  Length of +his wvee doesnt matter,
(i3 I Aecision boundary) but direction does matler

S0 LWy, rwaxy = w, )+ w,(2) =0

4 . .
One epn, two unknowni; chosse dany W, Aesired,

For 2-D cade can use trick:

(_Xz:"l) £ ("‘n,-xz) or CKL, -x) L ("n,xz)
So use _(Wn“”?.) = (K'{J-xl) = (21 V).
<"U')w1) = (11 \)

Na'ég; (tu"wz) = (‘l,'l) -f—‘ips the S.!AQS for y=0 and y:l,
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Decision Bouna\qr;r (cant.)

To find  threshold  w, we can use

point on the decison bo

(1,0 and (O,Z\ are on
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(2, 1) = (1, 0) =0
weg + 21 + t-0 =0
we + 2 =0

Wy = -

We.  should algo verify
y=1 i94 above the ULin

we + (w,wy)e (3,00 = -

I+ we want %o +Lrade
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